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: Note : Four possible choices A, B, C D to each guestion are given. Which choice is correct . fill that circle in front of that question

: number. Use marker or pento fill the circles Cutting or fitling two or more circles will result in zerc mark in that question.
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:ﬁn ogadro's Numbt_r 1s a collection of --—------ particles : (1)
!' :

| 6:02 x 10 (D) 6.02x 102 (O 6-02x 107 (B) 6-02x 107 (A)

E‘F.f“Ji'm:h one of the tollowing is Polyatomic Molecule : < J{QLJHJ; qu):rc.utfu_:%yi (2)

CH, (D) H,O (C) HC (B) co, (A)

Dl Ji..w,lf - t.Ec:—LJ!E:-J:LZJQﬂ (3)
IWhich one of the following Shell consists of Four Sub - Shells :
O Shell £ O (D)L Shell £ L(O NShell £ N (B) K Shell J K (A)
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How many Elements are present in 6th Period : .,.......A..J;'r .£ o ;ﬁ {;}"'
P 32 (D) 18 (CO) 08 *Lb) 02 (A) ;
Ewmch e RO T A ‘,__ oy ;,ﬂLM ..... {5}
% HF (D) HEL, (C) Cly (B) H,O (A
EHCI has --------- Covalent Bond - i EL#‘J-‘-H/ J- HCI. ()
i lonic _.E}fT (D) Triple 7 () Double (f3 (B) Single u‘"‘ (A)

E In (harles Law 'K 'is equal to : e by 4l LU KA PUIJJJ!;’ (7)
; Vv D) % @ v B T @

EHuw many times Liquids are Denser than Gases rd s S 6 & o T (jL (8)
E 1000 Times ¢ 1000 (B) 100 Times 17100 (A)

| 1,00,000 Times ~ ¢/1,00,000 (D) 10,000 Times & 10,000 (C) |
%h’h]th one is Insoluble in Water : J’J—"U' v dL /:’JUJr*L (9)
E Alcohol J’)”/l (D) Sugar e (C) Sodium Carbonate wbb’f}f (B) Petrol J:,&(A)
E(_nrmsmn of I.run is called : i.f'ﬁf-([ id Z-u'ﬂf J 77 (10)
!

1 Galvanizing fxtbf (D) Electroplating ._ﬁ%:/ﬂl' (C) Rustlng ...ﬁ-.s (B) Alloying _Zy (A)
iSpnntanenu.% Chemical Reaction takes place in : = o J’u’ u'fd.adf'"r Ulsd__,ﬁul: u?ﬂg (11)

: Galvanic Cell J’..ﬁy"r (B) IElectrolytic Cell J"..@:/-ﬂf (A)

5 Down's Cell  J735 (D) Neboms Cell ¥ @
E : .-.:_UJ"_,!::.JI.FCJ/L £ }4“[‘5 ﬂ;;;.cﬁfzf :_51;}[ EJ (12}
: Which Halogen is found in Liquid Form at Room Temperature

i Chlorine ,.,( (D) Bromine %1 (C) Fluorine J.ul’ (B) lodine (/37 (A)
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